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1. Dandi March is also known as
a) Non-cooperation movement
b) Revolt of 1942

c) Salt satyagraha

d) Long march

2. The natural satellite of earth is
a) Agni

b) Chandrayan

c) Venus

d) Moon

3. The Supreme Commander of the Indian Armed Force is
a) President of India

b) Prime Minister

c) Defence Minister

d) Army Chief

4. The founder of Mughal Empire in India was
a) Jahangir

b) Humayun

c) Akbar

d) Babur

5.1n cognizable offences

a) police officer shall not arrest without warrant
b) A police officer may arrest without warrant

c) Arrest is not required

d) A police officer himself can arrest and release

6.In camera refers to
a) In private

b) Public

c) Open trial

d) Oral submission
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7. The number of nominated Rajya Sabha members of India is
a) 12
b) 15
c) 19
d) 10

8.1n which district is the Malayalam University located
a) Thrissur

b) Malappuram

c) Kottayam

d) Kozhikod

9. Which is the blood group that is considered the universal donor?
a) B group

b) O group

c) AB group

d) A group

10. The speech titled ‘Il have a Dream’ was delivered by:
a) George Washington

b) Abraham Lincoln

c) Barack Obama

d) Martin Luther King

11. Which of the following is not a right included in the Constitution of
India?

a) Right to Freedom

b) Right to Equality

c) Right to Property

d) Right against Exploitation

12. Capital punishment means:

a) Death penalty c) Imprisonment till death
b) Imprisonment of 14 years d) Imprisonment of 20 years
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13. In lieu means:
a) In place of

b) Same

c) Different

d) Contrast

14. Who can file an election petition in India?

a) Only candidate can file an election petition if he or she thinks there
has been malpractice during the election

b) Only an elector can file an election petition if he or she thinks there
has been malpractice during the election

c) An elector or a candidate can file an election petition if he or she
thinks there has been malpractice during election

d) Only contesting political parties can file an election petition.

15. All executive action of the Government of a State shall be
expressed to be taken in the name of the:

a) Chief Secretary

b) Chief Minister

c) Governor

d) President of India

16. Which of the following is not a primary colour?
a) Yellow

b) Blue

c) Green

d) Red

17. What is the name of acid in tomato?
a) Acetic acid

b) Oxalic acid

c) Lactic acid

d) Citric acid
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18. Which vitamin is responsible for blood clotting?
a) Vitamin C
b) Vitamin K
c) Vitamin A
d) Vitamin E

19. The Governor General who is known as ‘the liberator of press’?
a) Lord Dalhousie

b) Charles Metcalfe

c) William Bentick

d) Lord Hastings

20.Which is known as the ‘Magna carta’ of modern Travancore.
a) Kundara proclamation

b) Pandarapatta proclamation

c) Temple entry proclamation

d) Jenmikudiyan proclamation

21. ‘Wagon Tragedy’ occurred in:
a) 1925
b) 1920
c) 1921
d) 1918

22. The southernmost point of India?
a) Indira point

b) Andaman point

c) Nicobar point

d) Androth

23.Durand Cup is associated with:
a) Football

b) Cricket

c) Hockey

d) Tennis
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24.The headquarters of SAARC is in:
a) Kathmandu

b) New Delhi

c) Islamabad

d) Dhaka

25."Yakshagana' is a popular dance form of:
a) Tamil nadu

b) Andhra Pradesh

c) Kerala

d) Karnataka

26.The President nominates 12 members of the Rajya Sabha
according to

a) Their performance as office bearers of cultural societies

b) The recommendations made by the Vice President

c) Their role played in political set up of the country

d) Their distinction in the field of science, art, literature and social
service

27. Which Article of the Constitution empowers the President to
appoint a Commission to investigate the ameliorative measures?
a) Art 342

b) Art 344

c) Art 340

d) Art339

28.Who is the ex- officio Chairman of the Council of States?
a) Vice- President

b) Leader of the opposition

c) President

d) Speaker
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29.Under which Article of the Constitution is the President's rule
promulgated on any state in India?

a) 326

b) 370

c) 380

d) 356

30.The minimum age required for becoming the Prime Minister of
India is

a) 30 years

b) 35 years

c) 40 years

d) 25 years

31. The President can make laws through ordinances

a) Only on subjects contained in the concurrent list

b) Under no circumstances

c) On certain subjects even when Parliament is in session.
d) During the recess of the Parliament

32. The Election commission holds election for

a) The Parliament, State Legislature and the posts of the President
and the Vice-President

b) The Parliament, State legislative Assemblies and the State Council
c) The Parliament

d) The Parliament and the State Legislative Assemblies

33. What is contained in the tenth schedule of the constitution?
a) Languages recognised by constitution

b) Forms of oath or affirmation

c) Laws that cannot be challenged in any court of law

d) Provision regarding disqualification on grounds of defection
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34.For an unlawful assembly under Section 141 of IPC, the minimum
number of persons required is:

a) 5

b) 7

c) 10

d) 20

35.For an assembly to be unlawful, it must have a common object of
the kind specified in:
a) Section 141 of IPC
b) Section 140 of IPC
c) Section 142 of IPC
d) Section 144 of IPC

36.For application of Section 149 of IPC:

a) Offender must be a member of unlawful assembly

b) Offence must have been committed in prosecution of the commmon
object

c) both (A) or (B)

d) either (A) or (B)

37. For an affray under Section 159 of IPC the minimum number of
person required is:

a) 5

b) 4

c) 2

d) 7

38.Culpable homicide has been defined:
a) Section 299 of IPC
b) Section 300 of IPC
c) Section 302 of IPC
d) Section 304 of IPC
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39.Murder has been defined:
a) Section 299 of IPC
b) Section 300 of IPC
c) Section 302 of IPC
d) Section 301 of IPC

40.Culpable homicide is not murder, if it is committed under:
a) Grave and sudden provocation

b) Self-intoxication

c) Irresistible impulse

d) All the above

4]. Culpable homicide not amounting to murder is punishable with:
a) Death

b) Imprisonment for life

c) Imprisonment for life or imprisonment for 10 years

d) Imprisonment for 10 years

42.Hurt has been defined as bodily pain, disease or infirmity to any
person under section:

a) Section 319 of IPC

b) Section 320 of IPC

c) Section 323 of IPC

d) Section 325 of IPC

43.Grievous hurt has been defined under:
a) Section 320 of IPC
b) Section 321 of IPC
c) Section 322 of IPC
d) Section 325 of IPC

44.Which of the following are grievous hurt:
a) Emasculation

b) Permanent disfiguration of face

c) Privation of any member or joint

d) All the above
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45.Wrongful restraint has been defined under:
a) Section 339 of IPC
b) Section 340 of IPC
c) Section 341 of IPC
d) Section 342 of IPC

46.Wrongful confinement has been defined under:
a) Section 342 of IPC
b) Section 341 of IPC
c) Section 340 of IPC
d) Section 339 of IPC

47.Assault in order to outrage the modesty of a woman is punishable:
a) U/Section 363 of IPC

b) U/Section 354 of IPC

c) U/Section 509 of IPC

d) U/Section 511 of IPC

48.Kidnapping from lawful guardianship U/Section 361 of IPC can be:
a) Of a person under 16 years of age if male

b) Of a person under 18 years of age if female

c) Of a person of unsound mind

d) All the above

49.The subject matter of theft:
a) Can be movable property
b) Can be immovable property
c) Both (A) and (B)

d) Either (A) or (B)

50.The involvement of 5 or more person is essential for:
a) Theft

b) Extortion

c) Robbery

d) Dacoity
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51. An Act which is not done gratuitously is:
a) Quantum Meruit

b) Recission

c) Injunction

d) Novation

52.Finder of lost goods is same as:
a) Bailee

b) Offeree

c) Pawnee

d) None

53.Contingent Contract must relate to ... event
a) Present

b) Past

c) Future

d) None

54.Death of parties will discharge the contract
a) True

b) False

c) Partial

d) None

55.A contract under a mistake of fact is
a) Void

b) Voidable

c) Valid

d) lllegal

56.-Choose the word nearest in meaning to the word given in
capitals: - VALE

a) Farewell

b) Valley

c) Fail

d) valet
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57.Fill up the correct preposition in question: -

*The Principal deals _ __ _ the students in a fair manner.
a) For

b) By

c) With

d) at

58.Fill up the correct preposition in question: -

« The outgoing manager will hand charge to his successor.
a) Over

b) Out

c) With

d) At

59.Fill up the correct preposition in question: -
«Her request for transfer was turned
a) Down

b) Out

c) Up

d) In

60.Fill up the correct prepositions in question: -

«Dr. Bosch’s work is superior _ __ Dr. Nair's in the field of microbiology.
a) Before

b) By

c) With

d) To

61. Fill up the correct preposition in question: -
«A man is known __ __ the company he keeps.
a) By

b) For

c) With

d) At
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62.Choose the nearest one word from among the alternatives given: -
«Chosen by chance and without any plan or pattern.

a) Guess

b) Random

c) Statistics

d) Datum

63.Choose the nearest one word from among the alternatives given: -
« A weak cowardly boy.

a) Sissy

b) Guy

c) Lad

d) Floss

64.Choose the nearest one word from among the alternatives given: -
« A person who has very long experience in a particular job.

a) Veteran

b) Sholar

c) Expert

d) Unique

65.Choose the nearest one word from among the alternatives given: -
« A person who sees something happen and tell others about it later.
a) Spectator

b) Reporter

c) Witness

d) Correspondent

66.Choose the nearest one word from among the alternatives given:-
- Something that seems to exist in burning sunlight but it does not
really exist.

a) Imaginary

b) Fantasy

c) Mirage

d) Miracle
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67.Identify the meaning of the idiom or phrase from the choices given:
*Blessing in disguise

a) Hidden fact

b) Worship properly you will be blessed

c) Something good that is not recognised first

d) Change your behaviour

68.ldentify the meaning of the idiom or phrase from the choices
given:-

« Strike while the iron is hot

a) Make use of the opportunity

b) Iron becomes hot when heated

c) When you strike iron it turns bright

d) Don't disbelief yourself

69.l1dentify the meaning of the idiom or phrase from the choices given:
*Blood is thicker than water

a) Blood donation saves life

b) Blood is precious

c) Relations are stronger

d) When you drink water, it becomes thicker

70.1dentify the meaning of the idiom or phrase from the choices given:
«Rome wasn't built in a day

a) Rome has a great culture

b) Great things need more time

c) Romans captured many countries

d) Understand your enemies

71. Choose the word correctly spelt: -
a) Inaccesible

b) Inacessible

c) Inaccessible

d) Inaccesibil
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72.Choose the word correctly spelt:
a) Mortuary

b) Morchury

c) Mortury

d) Mortery

73.Choose the word correctly spelt:
a) Equalibrium

b) Equiliberim

c) Equilibrium

d) Equaliberium

74.Choose the word correctly spelt:
a) Sophesticated

b) Sophisticated

c) Sophosticated

d) Sofesticated

75.Choose the word correctly spelt:
a) Suprend

b) Suprentendent

c) Suprentendant

d) Superintendent

76.Find out the incorrectly spelt word: -
a) Fracture

b) Fagile

c) Fragment

d) Fragnance

77. Find out the incorrectly spelt word: -
a) Grammar

b) Gratious

c) Graduate

d) Gramophone
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78.Find out the incorrectly spelt word: -
a) Paediatrician

b) Paralysis

c) Paraphrase

d) Parliamentery

79.Find out the incorrectly spelt word: -
a) Santury

b) Satellite

c) Sapphire

d) Saturation

80.Find out the incorrectly spelt word: -
a) Enmity

b) Enormous

c) Ensure

d) Enduarance

81. -Fill in the blank from the choice given below: - APXH: BOYG, JSRD:.. ..
a) KRSC
b) KSRC

c) KCRS
d) KSCR

82.“Electricity” is related to “wire” in the same way “water ” is related to
a) Pond

b) Bottle

c) Pipe

d) Glass

83.Which of the number will replace the question mark 3, 5, 8,12,17, 23, ?
a) 30
b) 28
c) 32
d) 27
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84.What will be the unfilled letters in following pattern BF, CH, EK, ......, LT
a) HO
b) HM
c) DL
d) EN

85.Complete the following series with those given from among the
alternatives 1, 9, 25, 49, ... ?

a) 64

b) 81

c) 100

d) 122

86.Complete the following series with those given from among the
alternatives 7,12, 22, 27, 37, .....

a) 42

b) 47

c) 52

d) 57

87. Which of the following statement is incorrect?
a) Even number x even number = even number
b) Even number x odd number = even number
c) Odd number x odd number = odd number

d) Odd number x even number = odd number

88.Which of the following statement is incorrect?
a) An even number ends in 0,2,4,6 or 8

b) An odd number ends in 1,3,5,7 or 9

c) The number “8” is an irrational number

d) The only even prime number is “2”

89.The sum of two odd natural numberis __ ________ _
a) Always odd

b) Always prime

c) Always irrational

d) Always even
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90.Find the answer 30/5x2+1=?
a) 4
b) 14
c) 13
d) 12

91. Find the correct answer 2/9 x 3/4 =?
a) 5/13

b) 1/6

c) 5/36

d) 6/13

92.A scooter and a cycle together cost Rs.30,000/-. The scooter costs
five times as much the cycle.

a) 20,000/-

b) 25,000/-

c) 22,500/~

d) 27,500/

93.-A train travels with a speed of 10m/s. Then how many Km will it
travels in one hour?

a) 33 Km/ hour

b) 36 Km [/hour

c) 40 Km [ hour

d) 46 Km/ hour

94.What is the perimeter of a triangle that has sides measuring 10
inches, 15 inches and 5 inches?

a) 25

b) 30

c) 45

d) 15

95.Find the least number of five digits that is exactly divisible by 456 ?
a) 10000
b) 10456
c) 10032
d) 10156
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96.Choose parent and young one relationship: - Butterfly: Caterpillar,

a) Eaglet
b) Cygnet
c) Turtle
d) Fawn

97. A scooter and a cycle together cost Rs.30,000/-. The scooter costs
five times as much the cycle.

a) Rs.20,000/-

b) Rs.25,000/-

c) Rs.22,500/-

d) Rs.27,500/-

98.Given below are four sentences in jumbled order. Pick the option
that gives their correct order.

A.: At seventy, one only waited to be summoned by God

B.: When he was dead, what would his wife do?

C.: They had lived in each order’'s company since they were children.
D.: The shopkeeper had said that Muni was seventy.

99.What does the word ‘benevolent’ means?
a) Harmful

b) Kind and generous

c) Dangerous

d) Uninterested

100. Choose the correct meaning of ‘ubiquitous’.
a) Rare

b) Everywhere at once

c) Hidden

d) Unique
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